

Hadamard compositions of Gelfond–Leont’ev derivatives of analytic functions

MYROSLAV M. SHEREMETA, OKSANA M. MULYAVA

Abstract. For analytic functions f and g , the growth of the Hadamard composition of their Gelfond–Leont’ev derivatives is investigated in terms of generalized orders. A relation between the behaviors of the maximal terms of the Hadamard composition of Gelfond–Leont’ev derivatives and those of the Gelfond–Leont’ev derivative of a Hadamard composition is established.

2010 MSC. 30B10.

Key words and phrases. Analytic function, Hadamard composition, Gelfond–Leont’ev derivative, maximal term.

1. Introduction

For the power series

$$f(z) = \sum_{k=0}^{\infty} f_k z^k \quad (1.1)$$

and $g(z) = \sum_{k=0}^{\infty} g_k z^k$ with convergence radii $R[f]$ and $R[g]$, the series

$(f * g)(z) = \sum_{k=0}^{\infty} f_k g_k z^k$ is called the Hadamard composition. It is well known [1–2] that $R[f * g] \geq R[f]R[g]$. The properties of this composition found the applications [2–3] in the theory of the analytic continuation of functions represented by power series. It is worth to note that the singular points of a Hadamard composition were investigated in work [4].

For $0 \leq r < R[f]$, let $M(r, f) = \max\{|f(z)| : |z| = r\}$, $\mu(r, f) = \max\{|f_k|r^k : k \geq 0\}$ be the maximal term, and let $\nu(r, f) = \max\{k : |f_k|r^k = \mu(r, f)\}$ be the central index of the power expansion of f . Studying [5–6] a connection between the growth of the maximal terms of a derivative of the Hadamard composition of two entire functions f and g

Received 27.04.2020

and the Hadamard composition of their derivatives M. Sen [6] proved in particular that if the function $(f * g)$ has the order ϱ and the lower order λ , then, for every $\varepsilon > 0$ and all $r \geq r_0(\varepsilon)$,

$$r^{(n+2)\lambda-1-\varepsilon} \leq \frac{\mu(r, f^{(n+1)} * g^{(n+1)})}{\mu(r, (f * g)^{(n)})} \leq r^{(n+2)\varrho-1+\varepsilon}.$$

For the power series (1.1) with the convergence radius $R[f] \in [0, +\infty]$ and the power series $l(z) = \sum_{k=0}^{\infty} l_k z^k$ with the convergence radius $R[l] \in [0, +\infty]$ and coefficients $l_k > 0$, $k \geq 0$, the power series

$$D_l^{(n)} f(z) = \sum_{k=0}^{\infty} \frac{l_k}{l_{k+n}} f_{k+n} z^k \quad (1.2)$$

is called [7] the Gelfond–Leont’ev derivative of the n -th order of f with respect to l . If $l(z) = e^z$, then $D_l^{(n)} f(z) = f^{(n)}(z)$ is the usual derivative of the n -th order. Naturally, the radius of convergence of the Gelfond–Leont’ev derivative of series (1.1) coincides not always with the radius of convergence of the latter. However, using the Cauchy–Hadamard formula, it is not difficult to verify the validity of such statement. The following lemmas were proved in [8].

Lemma 1. *In order that, for an arbitrary series (1.1), the equalities $R[f] = +\infty$ and $R[D_l^{(n)} f] = +\infty$ be equivalent, it is necessary and sufficient that*

$$0 < q = \liminf_{k \rightarrow \infty} \sqrt[k]{l_k/l_{k+1}} \leq \overline{\lim}_{k \rightarrow \infty} \sqrt[k]{l_k/l_{k+1}} = Q < +\infty. \quad (1.3)$$

Lemma 2. *In order that, for an arbitrary series (1.1), the equalities $R[f] = 1$ and $R[D_l^{(n)} f] = 1$ be equivalent, it is necessary and sufficient that*

$$\lim_{k \rightarrow \infty} \sqrt[k]{l_k/l_{k+1}} = 1. \quad (1.4)$$

For the functions of finite order, the following analogs of the result by M. Sen were proved in [8].

Proposition 1. *If $R[f] = R[g] = +\infty$ and (1.3) with $q > 1$ holds, then*

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{\mu(r, D_l^{(n+1)} f * D_l^{(n+1)} g)}{\mu(r, D_l^{(n)}(f * g))} = (n+2)\varrho[f * g] - 1$$

and

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{\mu(r, D_l^{(n+1)} f * D_l^{(n+1)} g)}{\mu(r, D_l^{(n)}(f * g))} = (n + 2)\lambda[f * g] - 1,$$

where $\varrho[f]$ is the order, and $\lambda[f]$ is the lower order of the entire function f .

Proposition 2. *If $R[f] = R[g] = 1$, and if (1.4) holds, then*

$$\begin{aligned} (n + 2)\varrho^{(1)}[f * g] &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{-\ln(1 - r)} \ln^+ \frac{\mu(r, D_l^{(n+1)} f * D_l^{(n+1)} g)}{\mu(r, D_l^{(n)}(f * g))} \\ &\leq (n + 2)(\varrho^{(1)}[f * g] + 1) \end{aligned}$$

and

$$\begin{aligned} (n + 2)\lambda^{(1)}[f * g] &\leq \underline{\lim}_{r \uparrow 1} \frac{1}{-\ln(1 - r)} \ln^+ \frac{\mu(r, D_l^{(n+1)} f * D_l^{(n+1)} g)}{\mu(r, D_l^{(n)}(f * g))} \\ &\leq (n + 2)(\lambda^{(1)}[f * g] + 1), \end{aligned}$$

where $\varrho^{(1)}[f]$ is the order and $\lambda^{(1)}[f]$ is the lower order of the analytic function f in a unit disk.

In [8], the behavior of $\mu(r, D_l^{(n)} f * D_l^{(n)} g)$ was studied as well. The following statements were proved.

Proposition 3. *Let $n \in \mathbb{Z}_+$, $m \in \mathbb{N}$, $m > n$, and $R[f] = R[g] = +\infty$. If (1.3) holds with $q > 1$, then*

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \ln \frac{\mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} = \varrho[f * g]$$

and

$$\underline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \ln \frac{\mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} = \lambda[f * g].$$

If

$$0 < \underline{\lim}_{k \rightarrow \infty} \frac{l_k}{(k + 1)l_{k+1}} \leq \overline{\lim}_{k \rightarrow \infty} \frac{l_k}{(k + 1)l_{k+1}} < +\infty, \tag{1.5}$$

then

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{r^{m-n} \mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} = \varrho[f * g]$$

and

$$\lim_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{r^{m-n} \mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} = \lambda[f * g].$$

Proposition 4. *Let $n \in \mathbb{Z}_+$, $m \in \mathbb{N}$, $m > n$, and $R[f] = R[g] = R[f * g] = 1$. If (1.5) holds, then*

$$\begin{aligned} 2(m-n)\varrho^{(1)}[f * g] &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{-\ln(1-r)} \ln^+ \frac{\mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} \\ &\leq 2(m-n)(\varrho^{(1)}[f * g] + 1) \end{aligned}$$

and

$$\begin{aligned} 2(m-n)\lambda^{(1)}[f * g] &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{-\ln(1-r)} \ln^+ \frac{\mu(r, D_l^{(m)} f * D_l^{(m)} g)}{\mu(r, D_l^{(n)} f * D_l^{(n)} g)} \\ &\leq 2(m-n)(\lambda^{(1)}[f * g] + 1). \end{aligned}$$

Here, in terms of generalized orders, we investigate the behavior of $\mu(r, D_l^{(n)} f * D_l^{(m)} g)$, where $m \neq n$, $\lambda(z) = \sum_{k=0}^{\infty} \lambda_k z^k$, and $\lambda_k > 0$ for all $k \geq 0$.

2. Entire transcendental functions

Suppose that the functions f and g are transcendental, and the sequences (l_k) and (λ_k) satisfy condition (1.3). Since $R[f] = R[g] = +\infty$, $R[D_l^{(n)} f] = R[D_l^{(m)} g] = +\infty$ by Lemma 1, and, thus, $R[D_l^{(n)} f * D_l^{(m)} g] = +\infty$.

As in [9], let L be a class of continuous functions α nonnegative on $(-\infty, +\infty)$ and such that $\alpha(x) = \alpha(x_0) \geq 0$ for $x \leq x_0$ and $\alpha(x) \uparrow +\infty$ as $x_0 \leq x \rightarrow +\infty$. We say that $\alpha \in L^0$, if $\alpha \in L$ and $\alpha((1 + o(1))x) = (1 + o(1))\alpha(x)$ as $x \rightarrow +\infty$. Finally, $\alpha \in L_{si}$, if $\alpha \in L$ and $\alpha(cx) = (1 + o(1))\alpha(x)$ as $x \rightarrow +\infty$ for every fixed $c \in (0, +\infty)$, i.e., α is a slowly increasing function. Clearly, $L_{si} \subset L^0$.

For $\alpha \in L$, $\beta \in L$, and the entire transcendental function (1.1), the quantities

$$\varrho_{\alpha, \beta}[f] := \varrho_{\alpha, \beta}[\ln M, f] = \overline{\lim}_{r \rightarrow +\infty} \frac{\alpha(\ln M(r, f))}{\beta(\ln r)}$$

and

$$\lambda_{\alpha,\beta}[f] := \lambda_{\alpha,\beta}[\ln M, f] = \lim_{r \rightarrow +\infty} \frac{\alpha(\ln M(r, f))}{\beta(\ln r)}$$

are called the generalized order and the lower generalized order, respectively. If we substitute $\ln \mu(r, f)$ or $\nu(r, f)$ instead of $\ln M(r, f)$, then we obtain the definitions of the quantities $\varrho_{\alpha,\beta}[\ln \mu, f]$, $\lambda_{\alpha,\beta}[\ln \mu, f]$ and $\varrho_{\alpha,\beta}[\nu, f]$, $\lambda_{\alpha,\beta}[\nu, f]$, respectively.

Lemma 3. *Let $\alpha \in L_{si}$, $\beta \in L^0$ and $\frac{d\beta^{-1}(c\alpha(x))}{d \ln x} = O(1)$ as $x \rightarrow +\infty$ for every $c \in (0, +\infty)$. Then*

$$\varrho_{\alpha,\beta}[f] = \overline{\lim}_{k \rightarrow \infty} \frac{\alpha(k)}{\beta\left(\frac{1}{k} \ln \frac{1}{|f_k|}\right)}. \quad (2.6)$$

If, moreover, $|f_k/f_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$, then

$$\lambda_{\alpha,\beta}[f] = \lim_{k \rightarrow \infty} \frac{\alpha(k)}{\beta\left(\frac{1}{k} \ln \frac{1}{|f_k|}\right)}. \quad (2.7)$$

Formula (2.6) was proved in [9], and formula (2.7) follows from the corresponding formula for entire Dirichlet series proved in [10].

Lemma 4. *If $\alpha \in L_{si}$ and $\beta \in L^0$, then $\varrho_{\alpha,\beta}[f] = \varrho_{\alpha,\beta}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}[f] = \lambda_{\alpha,\beta}[\ln \mu, f]$. If, moreover, $\alpha(e^x) \in L_{si}$ and $\alpha(x) = o(\beta(x))$ as $x \rightarrow +\infty$, then $\varrho_{\alpha,\beta}[\ln \mu, f] = \varrho_{\alpha,\beta}[\nu, f]$ and $\lambda_{\alpha,\beta}[\ln \mu, f] = \lambda_{\alpha,\beta}[\nu, f]$.*

Proof. In view of the conditions $\alpha \in L_{si}$ and $\beta \in L^0$, the equalities $\varrho_{\alpha,\beta}[f] = \varrho_{\alpha,\beta}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}[f] = \lambda_{\alpha,\beta}[\ln \mu, f]$ follow from the estimates

$$\mu(r, f) \leq M(r, f) \leq \sum_{k=0}^{\infty} |f_k| r^k = \sum_{k=0}^{\infty} |f_k| (2r)^k 2^{-k} \leq 2\mu(2r, f).$$

It is well known [11, p. 13] that

$$\ln \mu(r, f) - \ln \mu(r_0, f) = \int_{r_0}^r \frac{\nu(t, f)}{t} dt \quad (0 \leq r_0 \leq r).$$

From whence for $r_0 = 1$, we get

$$\nu(r/2, f) \ln 2 \leq \int_{r/2}^r \frac{\nu(t, f)}{t} dt \leq \ln \mu(r, f) - \ln \mu(1, f) \leq \nu(r, f) \ln r. \quad (2.8)$$

Therefore, in view of the conditions $\alpha(e^x) \in L_{si}$, $\beta \in L^0$ and $\alpha(x) = o(\beta(x))$ as $x \rightarrow +\infty$, we have

$$\begin{aligned} & (1 + o(1)) \frac{\alpha(\nu(r, f))}{\beta(\ln r)} \leq (1 + o(1)) \frac{\alpha(\ln \mu(r, f))}{\beta(\ln r)} \\ & \leq \frac{\alpha(\exp\{\ln \nu(r, f) + \ln \ln r\})}{\beta(\ln r)} \leq \frac{\alpha(\exp\{2 \max\{\ln \nu(r, f), \ln \ln r\}\})}{\beta(\ln r)} \\ & = (1 + o(1)) \frac{\alpha(\exp\{\max\{\ln \nu(r, f), \ln \ln r\}\})}{\beta(\ln r)} \\ & = (1 + o(1)) \frac{\max\{\alpha(\nu(r, f)), \alpha(\ln r)\}}{\beta(\ln r)} \leq (1 + o(1)) \frac{\alpha(\nu(r, f)) + \alpha(\ln r)}{\beta(\ln r)} \\ & = (1 + o(1)) \frac{\alpha(\nu(r, f))}{\beta(\ln r)} + o(1), \quad r \rightarrow +\infty. \end{aligned}$$

Thus, $\varrho_{\alpha,\beta}[\ln \mu, f] = \varrho_{\alpha,\beta}[\nu, f]$ and $\lambda_{\alpha,\beta}[\ln \mu, f] = \lambda_{\alpha,\beta}[\nu, f]$. The proof of Lemma 4 is completed. \square

Using Lemmas 3 and 4, we prove the following statements.

Proposition 5. *If $\alpha \in L_{si}$ and $\beta \in L^0$, then $\varrho_{\alpha,\beta}[f * g] \leq \min\{\varrho_{\alpha,\beta}[f], \varrho_{\alpha,\beta}[g]\}$ and $\lambda_{\alpha,\beta}[f * g] \leq \min\{\lambda_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}$.*

Proof. Since $|g_k| \leq 1$ for $k \geq k_0$ and $r^{k_0} = o(\mu(r, f))$ as $r \rightarrow +\infty$, we have

$$\begin{aligned} \mu(r, f * g) &= \max\{\max\{|f_k g_k| r^k : 0 \leq k \leq k_0\}, \max\{|f_k g_k| r^k : k \geq k_0\}\} \\ &\leq \max\{O(r^{k_0}), \max\{|f_k| r^k : k \geq n_0\}\} \leq (1 + o(1))\mu(r, f), \quad r \rightarrow +\infty. \end{aligned}$$

From whence, we get $\varrho_{\alpha,\beta}[\ln \mu, f * g] \leq \varrho_{\alpha,\beta}[\ln \mu, f]$, $\lambda_{\alpha,\beta}[\ln \mu, f * g] \leq \lambda_{\alpha,\beta}[\ln \mu, f]$, and, by Lemma 4, $\varrho_{\alpha,\beta}[f * g] \leq \varrho_{\alpha,\beta}[f]$ and $\lambda_{\alpha,\beta}[f * g] \leq \lambda_{\alpha,\beta}[f]$. Similarly, $\varrho_{\alpha,\beta}[f * g] \leq \varrho_{\alpha,\beta}[g]$ and $\lambda_{\alpha,\beta}[f * g] \leq \lambda_{\alpha,\beta}[g]$. \square

Proposition 6. *Let $\alpha \in L_{si}$, $\beta \in L_{si}$, and $\frac{d\beta^{-1}(c\alpha(x))}{d \ln x} = O(1)$ as $x \rightarrow +\infty$ for every $c \in (0, +\infty)$. Suppose that $|f_k/f_{k+1}| \nearrow +\infty$ and $|g_k/g_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$. Then*

$$\varrho_{\alpha,\beta}[f * g] \geq \max\{\min\{\varrho_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}, \min\{\varrho_{\alpha,\beta}[g], \lambda_{\alpha,\beta}[f]\}\}, \quad (2.9)$$

and if, moreover, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\lambda_{\alpha,\beta}[f * g] \geq \min\{\lambda_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}. \quad (2.10)$$

Proof. We can consider that $\varrho_{\alpha,\beta}[f] > 0$ and $\lambda_{\alpha,\beta}[g] > 0$. Then $\frac{1}{k_j} \ln \frac{1}{|f_{k_j}|} \leq \beta^{-1} \left(\frac{\alpha(k_j)}{\varrho} \right)$ for every $\varrho \in (0, \varrho_{\alpha,\beta}[f])$ and some sequence $(k_j) \uparrow \infty$, and $\frac{1}{k} \ln \frac{1}{|g_k|} \leq \beta^{-1} \left(\frac{\alpha(k)}{\lambda} \right)$ for every $\lambda \in (0, \lambda_{\alpha,\beta}[g])$ and all $k \geq k_0(\lambda)$. Therefore, by Lemma 3 in view of the condition $\beta \in L_{si}$, we have

$$\begin{aligned} \varrho_{\alpha,\beta}[f * g] &= \overline{\lim}_{k \rightarrow \infty} \frac{\alpha(k)}{\beta \left(\frac{1}{k} \ln \frac{1}{|f_k g_k|} \right)} \geq \overline{\lim}_{j \rightarrow \infty} \frac{\alpha(k_j)}{\beta \left(\frac{1}{k_j} \ln \frac{1}{|f_{k_j}|} + \frac{1}{k_j} \ln \frac{1}{|g_{k_j}|} \right)} \\ &\geq \overline{\lim}_{j \rightarrow \infty} \frac{\alpha(k_j)}{\beta(\beta^{-1}(\alpha(k_j)/\varrho) + \beta^{-1}(\alpha(k_j)/\lambda))} \\ &\geq \overline{\lim}_{j \rightarrow \infty} \frac{\alpha(k_j)}{\beta(2\beta^{-1}(\alpha(k_j)/\min\{\varrho, \lambda\}))} = \min\{\varrho, \lambda\}. \end{aligned} \tag{2.11}$$

In view of the arbitrariness of ϱ and λ , inequality (2.11) implies the inequality $\varrho_{\alpha,\beta}[f * g] \geq \min\{\varrho_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}$ follows. Similarly, $\varrho_{\alpha,\beta}[f * g] \geq \min\{\varrho_{\alpha,\beta}[g], \lambda_{\alpha,\beta}[f]\}$. Thus, estimate (2.9) is proved.

Now, we suppose that $\lambda_{\alpha,\beta}[f] > 0$. Then $\frac{1}{k} \ln \frac{1}{|g_k|} \leq \beta^{-1} \left(\frac{\alpha(k)}{\lambda^*} \right)$ for every $\lambda \in (0, \lambda_{\alpha,\beta}[g])$ and all $k \geq k_0(\lambda)$. Therefore, by Lemma 3 as above, we obtain

$$\lambda_{\alpha,\beta}[f * g] \geq \overline{\lim}_{k \rightarrow \infty} \frac{\alpha(k)}{\beta(\beta^{-1}(\alpha(k)/\lambda^*) + \beta^{-1}(\alpha(k)/\lambda))}.$$

From whence, $\lambda_{\alpha,\beta}[f * g] \geq \min\{\lambda^*, \lambda\}$. In view of the arbitrariness of λ^* and λ , we get (2.10). The proof of Proposition 6 is completed. \square

A next statement establishes a connection between the growth of an entire function and its Gelfond–Leont’ev derivative.

Proposition 7. *Let $\alpha \in L^0$ and $\beta \in L^0$. If condition (1.4) holds, and if f is an entire function, then $\lambda_{\alpha,\beta}[D_l^{(n)} f] = \lambda_{\alpha,\beta}[f]$ and $\varrho_{\alpha,\beta}[D_l^{(n)} f] = \varrho_{\alpha,\beta}[f]$.*

Proof. It is sufficient to consider the case where $n = 1$. Condition (1.4) yields the existence of numbers $0 < q_1 \leq Q_1 < +\infty$ such that $q_1^k \leq l_k/l_{k+1} \leq Q_1^k$ for all $k \geq 0$. Therefore,

$$r\mu(r, D_l^1 f) = \max \left\{ \frac{l_k}{l_{k+1}} |f_{k+1}| r^{k+1} : k \geq 0 \right\}$$

$$\leq \frac{1}{Q_1} \max \{ |f_{k+1}| (Q_1 r)^{k+1} : k \geq 0 \} \leq \frac{\mu(Q_1 r, f)}{Q_1}$$

and, by analogy,

$$r\mu(r, D_l^1 f) \geq \frac{\mu(q_1 r, f)}{q_1}$$

for all r sufficiently large. Since $\ln r = o(\ln \mu(r, f))$ as $r \rightarrow +\infty$ for every entire transcendental function, we get the asymptotic inequalities

$$(1 + o(1)) \ln \mu(q_1 r, f) \leq \ln \mu(r, D_l^1 f) \leq (1 + o(1)) \ln \mu(Q_1 r, f), \quad r \rightarrow +\infty.$$

From whence, we have $\lambda_{\alpha, \beta}[\ln \mu, D_l^{(n)} f] = \lambda_{\alpha, \beta}[\ln \mu, f]$ and $\varrho_{\alpha, \beta}[\ln \mu, D_l^{(n)} f] = \varrho_{\alpha, \beta}[\ln \mu, f]$. Therefore, in view of Lemma 4, Proposition 7 is proved. \square

Let us go to the main result.

Theorem 1. *Let $\alpha(e^x) \in L_{si}$, $\beta \in L_{si}$, and $\frac{d\beta^{-1}(c\alpha(x))}{d \ln x} = O(1)$ as $x \rightarrow +\infty$ for every $c \in (0, +\infty)$. Suppose that $|f_k/f_{k+1}| \nearrow +\infty$ and $|g_k/g_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$. Then:*

1) *if the sequences (l_k) and (λ_k) satisfy (1.3) with $q > 1$, then*

$$\max \{ \min \{ \varrho_{\alpha, \beta}[f], \lambda_{\alpha, \beta}[g] \}, \min \{ \lambda_{\alpha, \beta}[f], \varrho_{\alpha, \beta}[g] \} \}$$

$$\leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right)$$

$$\leq \min \{ \varrho_{\alpha, \beta}[f], \varrho_{\alpha, \beta}[g] \} \tag{2.12}$$

and if, moreover, $l_k l_{k+2} / l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2} / \lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\underline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right)$$

$$= \min \{ \lambda_{\alpha, \beta}[f], \lambda_{\alpha, \beta}[g] \}; \tag{2.13}$$

2) *if*

$$l_k / l_{k+1} \asymp k, \quad \lambda_k / \lambda_{k+1} \asymp k \tag{2.14}$$

as $k \rightarrow \infty$, then

$$\max \{ \min \{ \varrho_{\alpha, \beta}[f], \lambda_{\alpha, \beta}[g] \}, \min \{ \lambda_{\alpha, \beta}[f], \varrho_{\alpha, \beta}[g] \} \} \leq$$

$$\begin{aligned} &\leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) \\ &\leq \min\{\varrho_{\alpha,\beta}[f], \varrho_{\alpha,\beta}[g]\} \end{aligned} \tag{2.15}$$

and if, moreover, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\lim_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \min\{\lambda_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}. \tag{2.16}$$

Proof. It is clear that

$$(D_l^{(n)} f * D_\lambda^{(m)} g)(z) = \sum_{k=0}^{\infty} \frac{l_k}{l_{k+n}} \frac{\lambda_k}{\lambda_{k+m}} g_{k+m} f_{k+n} z^k$$

and

$$(D_l^{(n+j)} f * D_\lambda^{(m+j)} g)(z) = \sum_{k=0}^{\infty} \frac{l_k}{l_{k+n+j}} \frac{\lambda_k}{\lambda_{k+m+j}} g_{k+m+j} f_{k+n+j} z^k.$$

At first, we prove that

$$\begin{aligned} &\frac{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}} \frac{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}} \leq \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ &\leq \frac{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}} \frac{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}}. \end{aligned} \tag{2.17}$$

Indeed,

$$\begin{aligned} &\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) \\ &= \frac{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} f)}}{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + n + j}} \frac{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + m + j}} \\ &\times |f_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + m + j}| |f_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + n + j}| r^{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)} \\ &= \frac{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}} \frac{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}} r^{-j} \\ &\times \frac{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}}{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j + n}} \frac{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}}{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j + m}} \end{aligned}$$

$$\begin{aligned} & \times |f_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j + n}| |f_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j + m}| r^{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j} \\ & \leq \frac{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{l_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}} \frac{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}}{\lambda_{\nu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g) + j}} r^{-j} \mu(r, D_l^{(n)} f * D_\lambda^{(m)} g). \end{aligned} \tag{2.18}$$

On the other hand,

$$\begin{aligned} & \mu(r, D_l^{(n)} f * D_\lambda^{(m)} g) \\ & = \frac{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}}{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) + n}} \frac{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}}{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) + m}} \\ & \times |f_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) + m}| |f_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) + n}| r^{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ & = \frac{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}}{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}} \frac{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}}{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}} \\ & \times \frac{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j + n + j}} \frac{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j + m + j}} \\ & \times |f_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j + m + j}| |f_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j + n + j}| r^{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j} r^j \\ & \leq \frac{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{l_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}} \frac{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j}}{\lambda_{\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)}} r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g). \end{aligned} \tag{2.19}$$

Inequalities (2.18) and (2.19) yield (2.17).

Condition (1.3) with $q > 1$ implies that there exist numbers $1 < q_1 \leq q_2 < +\infty$ such that $q_1^{kn} \leq l_k / l_{k+n} \leq q_2^{kn}$ and $q_1^{km} \leq \lambda_k / \lambda_{k+m} \leq q_2^{km}$ for all $k \geq k_0$. Therefore, from (2.17), we get

$$\begin{aligned} q_1^{2(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j)j} & \leq \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ & \leq q_2^{2(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j)j}. \end{aligned}$$

From whence, we get

$$\ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \asymp \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g), \quad r \rightarrow +\infty. \tag{2.20}$$

Condition (2.14) yields the existence of numbers $0 < h_1 \leq h_2 < +\infty$ such that $h_1 k^j \leq l_k/l_{k+j} \leq h_2 k^j$ and $h_1 k^j \leq \lambda_k/\lambda_{k+j} \leq h_2 k^j$. Therefore, from (2.17), we get

$$\begin{aligned} h_1^2(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g) - j)^{2j} &\leq \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ &\leq h_1^2 \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j}, \end{aligned}$$

i.e.,

$$\frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \asymp \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j}. \quad r \rightarrow +\infty. \quad (2.21)$$

We note that if $\frac{d\beta^{-1}(c\alpha(x))}{d \ln x} = O(1)$ as $x \rightarrow +\infty$ for every $c \in (0, +\infty)$, then $\alpha(x) = o(\beta(x))$ $x \rightarrow +\infty$. Since $\alpha(e^x) \in L_{si}$, we have

$$\begin{aligned} \alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j}) &= \alpha(\exp\{2j \ln \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)\}) \\ &= (1 + o(1))\alpha(\exp\{\ln \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)\}) \\ &= (1 + o(1))\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)) \end{aligned}$$

as $r \rightarrow +\infty$ and, by Lemma 4,

$$\begin{aligned} \overline{\lim}_{r \rightarrow +\infty} \frac{\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j})}{\beta(\ln r)} &= \varrho_{\alpha,\beta}[\nu, D_l^{(n)} f * D_\lambda^{(m)} g] \\ &= \varrho_{\alpha,\beta}[D_l^{(n)} f * D_\lambda^{(m)}] \end{aligned}$$

and

$$\begin{aligned} \underline{\lim}_{r \rightarrow +\infty} \frac{\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j})}{\beta(\ln r)} &= \lambda_{\alpha,\beta}[\nu, D_l^{(n)} f * D_\lambda^{(m)} g] \\ &= \lambda_{\alpha,\beta}[D_l^{(n)} f * D_\lambda^{(m)}]. \end{aligned}$$

Therefore, from (2.20), we get

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \varrho_{\alpha,\beta}[D_l^{(n)} f * D_\lambda^{(m)}], \quad (2.22)$$

$$\lim_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \lambda_{\alpha, \beta} [D_l^{(n)} f * D_\lambda^{(m)}], \tag{2.23}$$

and (2.21) yields

$$\overline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \varrho_{\alpha, \beta} [D_l^{(n)} f * D_\lambda^{(m)}], \tag{2.24}$$

$$\underline{\lim}_{r \rightarrow +\infty} \frac{1}{\beta(\ln r)} \alpha \left(\frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \lambda_{\alpha, \beta} [D_l^{(n)} f * D_\lambda^{(m)}]. \tag{2.25}$$

We note that the conditions $|f_k/f_{k+1}| \nearrow +\infty$, $|g_k/g_{k+1}| \nearrow +\infty$, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$, and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$ were not used in the proof of equalities (2.22)–(2.25).

Let now $|f_k/f_{k+1}| \nearrow +\infty$ and $|g_k/g_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$. Then, in view of Propositions 5, 6, and 7, we have

$$\begin{aligned} \varrho_{\alpha, \beta} [D_l^{(n)} f * D_\lambda^{(m)} g] &\leq \min\{\varrho_{\alpha, \beta} [D_l^{(n)} f], \varrho_{\alpha, \beta} [D_\lambda^{(m)} g]\} \\ &= \min\{\varrho_{\alpha, \beta} [f], \varrho_{\alpha, \beta} [g]\} \end{aligned}$$

and

$$\begin{aligned} &\varrho_{\alpha, \beta} [D_l^{(n)} f * D_\lambda^{(m)} g] \\ &\geq \max\{\min\{\varrho_{\alpha, \beta} [D_l^{(n)} f], \lambda_{\alpha, \beta} [D_\lambda^{(m)} g]\}, \min\{\lambda_{\alpha, \beta} [D_l^{(n)} f], \varrho_{\alpha, \beta} [D_\lambda^{(m)} g]\}\} \\ &= \max\{\min\{\varrho_{\alpha, \beta} [f], \lambda_{\alpha, \beta} [g]\}, \min\{\lambda_{\alpha, \beta} [f], \varrho_{\alpha, \beta} [g]\}\}. \end{aligned}$$

Therefore, relations (2.22) and (2.24) yield (2.12) and (2.15).

If, moreover, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\frac{l_k l_{k+n+1}}{l_{k+1} l_{k+n}} = \prod_{j=0}^{n-1} \frac{l_{k+j} l_{k+j+2}}{l_{k+j+1}^2} \nearrow 1,$$

$$\frac{\lambda_k \lambda_{k+n+1}}{\lambda_{k+1} \lambda_{k+n}} = \prod_{j=0}^{n-1} \frac{\lambda_{k+j} \lambda_{k+j+2}}{\lambda_{k+j+1}^2} \nearrow 1, \quad k_0 \leq k \rightarrow \infty,$$

as $k_0 \leq k \rightarrow \infty$ and, thus,

$$\begin{aligned} &\left(\frac{l_k |f_{k+n}|}{l_{k+n}} \right) / \left(\frac{l_{k+1} |f_{k+n+1}|}{l_{k+n+1}} \right) \nearrow +\infty, \\ &\left(\frac{\lambda_k |g_{k+n}|}{\lambda_{k+n}} \right) / \left(\frac{\lambda_{k+1} |g_{k+n+1}|}{\lambda_{k+n+1}} \right) \nearrow +\infty \end{aligned}$$

as $k_0 \leq k \rightarrow \infty$. Therefore, by Propositions 5, 6, and 7, we get

$$\lambda_{\alpha,\beta}[D_l^{(n)} f * D_\lambda^{(m)} g] = \min\{\lambda_{\alpha,\beta}[D_l^{(n)} f],$$

$$\lambda_{\alpha,\beta}[D_\lambda^{(m)} g]\} = \min\{\lambda_{\alpha,\beta}[f], \lambda_{\alpha,\beta}[g]\}.$$

Moreover, from (2.23) and (2.25), we obtain (2.13) and (2.16). The proof of Theorem 1 is completed. \square

Remark 1. Choosing $\alpha(x) = \ln^+ x$ and $\beta(x) = x^+$ from the definitions of $\varrho_{\alpha,\beta}[f]$ and $\lambda_{\alpha,\beta}[f]$, we get the definitions of the order $\varrho[f] = \overline{\lim}_{r \rightarrow +\infty} \frac{\ln \ln M(r, f)}{\ln r}$ and the lower order $\lambda[f] = \underline{\lim}_{r \rightarrow +\infty} \frac{\ln \ln M(r, f)}{\ln r}$ for entire function (1.1). The condition $\alpha(e^x) \in L_{si}$ is used only in Lemma 4 for the proof of the equalities $\varrho_{\alpha,\beta}[\ln \mu, f] = \varrho_{\alpha,\beta}[\nu, f]$ and $\lambda_{\alpha,\beta}[\ln \mu, f] = \lambda_{\alpha,\beta}[\nu, f]$. The function $\alpha(x) = \ln^+ x$ does not satisfy this condition, but it is easy to obtain the equalities $\varrho[\ln \mu, f] = \varrho[\nu, f]$ and $\lambda[\ln \mu, f] = \lambda[\nu, f]$ from estimations (2.8). The condition $\beta \in L_{si}$ is used only in Proposition 6 for the proof of the inequalities (2.9) and (2.10). The function $\beta(x) = x^+$ does not satisfy this condition, and, in this case, we obtain slightly different estimates than (2.9) and (2.10). It is known (see, e.g., [12–13]) that, for the entire function (1.1), $\varrho[f] = \overline{\lim}_{k \rightarrow \infty} \frac{k \ln k}{-\ln |f_k|}$. Moreover, if $|f_k|/|f_{k+1}| \nearrow R[f]$ as $k_0 \leq k \rightarrow \infty$, then $\lambda[f] = \underline{\lim}_{k \rightarrow \infty} \frac{k \ln k}{-\ln |f_k|}$. Therefore, if $\lambda[f] > 0$ and $\lambda[g] > 0$, then $-\ln |f_k| \leq (k \ln k)/\lambda_1$ and $-\ln |g_k| \leq (k \ln k)/\lambda_2$ for every $\lambda_1 \in (0, \lambda[f])$, $\lambda_2 \in (0, \lambda[g])$ and all $k \geq k_0$. From whence,

$$\lambda[f * g] = \underline{\lim}_{k \rightarrow \infty} \frac{k \ln k}{-\ln |f_k| - \ln |g_k|}$$

$$\geq \underline{\lim}_{k \rightarrow \infty} \frac{k \ln k}{(k \ln k)/\lambda_1 + (k \ln k)/\lambda_2} = \frac{\lambda_1 \lambda_2}{\lambda_1 + \lambda_2}.$$

Thus, in view of Proposition 5 and the arbitrariness of λ_1 and λ_2 , we have $\lambda[f]\lambda[g]/(\lambda[f] + \lambda[g]) \leq \lambda[f * g] \leq \min\{\lambda[f], \lambda[g]\}$. If $\varrho[f] > 0$ and $\lambda[g] > 0$, then $-\ln |f_{k_j}| \leq (k_j \ln k_j)/\varrho$ for every $\varrho \in (0, \varrho[f])$ and some sequence $(k_j) \uparrow +\infty$. Moreover, $-\ln |g_k| \leq (k \ln k)/\lambda$ for every $\lambda \in (0, \lambda[g])$ and all $k \geq k_0$. From whence, we have

$$\varrho[f * g] \geq \underline{\lim}_{j \rightarrow \infty} \frac{k_j \ln k_j}{-\ln |f_{k_j}| - \ln |g_{k_j}|}$$

$$\geq \underline{\lim}_{j \rightarrow \infty} \frac{k_j \ln k_j}{(k_j \ln k_j)/\varrho + (k_j \ln k_j)/\lambda} = \frac{\varrho \lambda}{\varrho + \lambda}.$$

With regard for the arbitrariness of ϱ and λ_2 , we get $\varrho[f * g] \geq \varrho[f]\lambda[g]/(\varrho[f] + \lambda[g])$. Similarly, we have $\varrho[f * g] \geq \varrho[g]\lambda[f]/(\varrho[g] + \lambda[f])$. Thus, in view of Proposition 5, we get $\max\{\varrho[g]\lambda[f]/(\varrho[g] + \lambda[f]), \varrho[f]\lambda[g]/(\varrho[f] + \lambda[g])\} \leq \varrho[f * g] \leq \min\{\varrho[f], \varrho[g]\}$, and the following statement is proved. \square

Proposition 8. *Let $|f_k/f_{k+1}| \nearrow +\infty$ and $|g_k/g_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$. Then:*

1) *if the sequences (l_k) and (λ_k) satisfy (1.3) with $q > 1$, then*

$$\begin{aligned} & \max \left\{ \frac{\varrho[f]\lambda[g]}{\varrho[f] + \lambda[g]}, \frac{\varrho[f]\lambda[g]}{\varrho[f] + \lambda[g]} \right\} \\ & \leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \leq \min\{\varrho[f], \varrho[g]\}, \end{aligned}$$

and if, moreover, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\begin{aligned} \frac{\lambda[f]\lambda[g]}{\lambda[f] + \lambda[g]} & \leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ & \leq \min\{\lambda[f], \lambda[g]\}; \end{aligned}$$

2) *if (2.14) holds, then*

$$\begin{aligned} & \max \left\{ \frac{\varrho[f]\lambda[g]}{\varrho[f] + \lambda[g]}, \frac{\varrho[f]\lambda[g]}{\varrho[f] + \lambda[g]} \right\} \\ & \leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \leq \min\{\varrho[f], \varrho[g]\}, \end{aligned}$$

and if, moreover, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\begin{aligned} \frac{\lambda[f]\lambda[g]}{\lambda[f] + \lambda[g]} & \leq \overline{\lim}_{r \rightarrow +\infty} \frac{1}{\ln r} \ln \frac{r^j \mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ & \leq \min\{\lambda[f], \lambda[g]\}. \end{aligned}$$

3. Analytic functions in a unit disk

For $\alpha \in L$, $\beta \in L$, and the analytic transcendental function (1.1) with $R[f] = 1$, the quantities

$$\varrho_{\alpha,\beta}^{(1)}[f] := \varrho_{\alpha,\beta}^{(1)}[\ln M, f] = \overline{\lim}_{r \uparrow 1} \frac{\alpha(\ln M(r, f))}{\beta(1/(1-r))}$$

and

$$\lambda_{\alpha,\beta}^{(1)}[f] := \lambda_{\alpha,\beta}^{(1)}[\ln M, f] = \lim_{r \uparrow 1} \frac{\alpha(\ln M(r, f))}{\beta(1/(1-r))}$$

are called the generalized order and the lower generalized order, respectively.

Lemma 5. *Let $\alpha \in L_{si}$, $\beta \in L_{si}$, and let, for every $c \in (0, +\infty)$,*

$$\overline{\lim}_{x \rightarrow +\infty} \frac{d \ln \beta^{-1}(c\alpha(x))}{d \ln x} < 1, \quad \lim_{x \rightarrow +\infty} \frac{\alpha(x/\beta^{-1}(c\alpha(x)))}{\alpha(x)} = 1. \quad (3.26)$$

Then

$$\varrho_{\alpha,\beta}^{(1)}[f] = \overline{\lim}_{k \rightarrow \infty} \frac{\alpha(k)}{\beta(k/\ln |f_k|)}. \quad (3.27)$$

If, moreover, $|f_k/f_{k+1}| \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\lambda_{\alpha,\beta}^{(1)}[f] = \lim_{k \rightarrow \infty} \frac{\alpha(k)}{\beta(k/\ln |f_k|)}. \quad (3.28)$$

Formula (3.27) was proved in [14], and formula (3.28) follows from the corresponding formula for the Dirichlet series proved in [15–16].

The condition $|f_k/f_{k+1}| \nearrow 1$ as $k_0 \leq k \rightarrow \infty$ implies that $|f_{k+1}| = \prod_{j=k_0}^k q_j$ for $k \geq k_0$, where $q_j \searrow 1$. Therefore, $|f_{k+1}| \geq 1$ for all $k \geq k_0$. We assume that $|f_k| \geq 1$ and $|g_k| \geq 1$ for all $k \geq k_0$. Then $R[f * g] \leq 1$ and, thus, $R[f * g] = 1$.

Unlike the entire functions, the maximal term for functions (1.1) with $R[f] = 1$ can be a bounded function. In order that $\mu(r, f) \uparrow +\infty$ as $r \uparrow 1$, it is necessary and sufficient that $\overline{\lim}_{k \rightarrow \infty} |f_k| = +\infty$. Indeed, if $|f_k| \leq K < +\infty$ for all k , then $\mu(r, f) \leq \max\{Kr^k : k \geq 0\} = K$. On the other hand, if $\mu(r, f) \leq K$, then $|f_k|r^k \leq K$ for all $k \geq 0$ and $r \in [0, 1)$. Directing $r \rightarrow 1$, we get $|f_k| \leq K$ for all $k \geq 0$.

Lemma 6. *If $\alpha \in L_{si}$, $\beta \in L_{si}$, and $\alpha(\ln x) = o(\beta(x))$ as $x \rightarrow +\infty$, then $\varrho_{\alpha,\beta}^{(1)}[f] = \varrho_{\alpha,\beta}^{(1)}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[f] = \lambda_{\alpha,\beta}^{(1)}[\ln \mu, f]$. If, moreover, $\alpha(e^x) \in$*

L_{si} and $\alpha(x) = o(\beta(x))$ as $x \rightarrow +\infty$, then $\varrho_{\alpha,\beta}^{(1)}[\ln \mu, f] = \varrho_{\alpha,\beta}^{(1)}[\nu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[\ln \mu, f] = \lambda_{\alpha,\beta}^{(1)}[\nu, f]$.

Proof. In view of the conditions $\alpha \in L_{si}$ and $\beta \in L_{si}$, the equalities $\varrho_{\alpha,\beta}^{(1)}[f] = \varrho_{\alpha,\beta}^{(1)}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[f] = \lambda_{\alpha,\beta}^{(1)}[\ln \mu, f]$ follow from the estimates

$$\mu(r, f) \leq M(r, f) \leq \sum_{k=0}^{\infty} |f_k| \left(\frac{1+r}{2}\right)^k \left(\frac{2r}{1+r}\right)^k \leq \frac{1+r}{1-r} \mu\left(\frac{1+r}{2}, f\right).$$

Indeed, in view of the condition $\alpha \in L_{si}$, we have

$$\begin{aligned} \alpha(\ln \mu(r, f)) &\leq \alpha(\ln M(r, f)) \leq \alpha\left(\ln \mu\left(\frac{1+r}{2}, f\right) + \ln \frac{2}{1-r}\right) \\ &\leq \alpha\left(2 \max\left\{\ln \mu\left(\frac{1+r}{2}, f\right), \ln \frac{2}{1-r}\right\}\right) \\ &= (1 + o(1)) \max\left\{\alpha(\ln \mu\left(\frac{1+r}{2}, f\right)), \alpha\left(\ln \frac{2}{1-r}\right)\right\} \\ &= (1 + o(1)) \left\{\alpha(\ln \mu\left(\frac{1+r}{2}, f\right)) + \alpha\left(\ln \frac{2}{1-r}\right)\right\}, \quad r \uparrow 1, \end{aligned}$$

and, thus,

$$\begin{aligned} \frac{\alpha(\ln \mu(r, f))}{\beta(1/(1-r))} &\leq \frac{\alpha(\ln M(r, f))}{\beta(1/(1-r))} \\ &\leq (1 + o(1)) \left(\frac{\alpha(\ln \mu(1+r)/2, f)}{\beta(1/(1-(1+r)/2))} \frac{\beta(2/(1-r))}{\beta(1/(1-r))} + \frac{\alpha(\ln(2/(1-r)))}{\beta(1/(1-r))}\right) \end{aligned}$$

as $r \uparrow 1$. Since $\beta \in L_{si}$ and $\alpha(\ln x) = o(\beta(x))$ as $x \rightarrow +\infty$, we have $\varrho_{\alpha,\beta}^{(1)}[f] = \varrho_{\alpha,\beta}^{(1)}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[f] = \lambda_{\alpha,\beta}^{(1)}[\ln \mu, f]$.

Using the equality $\ln \mu(r, f) - \ln \mu(r_0, f) = \int_{r_0}^r \frac{\nu(t, f)}{t} dt$, $r_0 \leq r < 1$, we get

$$\ln \mu(r, f) - \ln \mu(r_0, f) \leq \nu(r, f) \ln(r/r_0) \leq \nu(r, f) \ln(1/r_0). \tag{3.29}$$

On the other hand, for $r \geq r_0$,

$$\begin{aligned} \ln \mu\left(r + \frac{1-r}{2}, f\right) - \ln \mu(r_0, f) &\geq \int_r^{r+(1-r)/2} \frac{\nu(t, f)}{t} dt \\ &\geq \nu(r, f) \ln(1 + (1-r)/2r) = (1 + o(1))\nu(r, f)(1-r)/2, \quad r \uparrow 1, \end{aligned}$$

i.e.,

$$\nu(r, f) \leq \frac{4}{1-r} \ln \mu \left(r + \frac{1-r}{2}, f \right), \quad r \geq r_0^*. \tag{3.30}$$

Since $\alpha(e^x) \in L_{si}$ and $\alpha(x) = o(\beta(x))$ as $x \rightarrow +\infty$, relations (3.29) and (3.30) yield

$$\begin{aligned} (1 + o(1)) \frac{\alpha(\ln \mu(r, f))}{\beta(1/(1-r))} &\leq (1 + o(1)) \frac{\alpha(\nu(r, f))}{\beta(1/(1-r))} \\ &\leq (1 + o(1)) \frac{\max\{\alpha(\ln \mu(r + (1-r)/2, f)), +\alpha(4/(1-r))\}}{\beta(1/(1-r))} \\ &= (1 + o(1)) \frac{\alpha(\ln \mu(r + (1-r)/2, f))}{\beta(1/(1-r - (1-r)/2))} \frac{\beta(2/(1-r))}{\beta(1/(R-r))} \\ &= (1 + o(1)) \frac{\alpha(\ln \mu(r + (1-r)/2, f))}{\beta(1/(1-r - (1-r)/2))}, \quad r \uparrow 1. \end{aligned}$$

This implies that $\varrho_{\alpha,\beta}^{(1)}[\ln \mu, f] = \varrho_{\alpha,\beta}^{(1)}[\nu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[\ln \mu, f] = \lambda_{\alpha,\beta}^{(1)}[\nu, f]$. Lemma 6 is proved. \square

Using Lemmas 5 and 6, we prove the following statements.

Proposition 9. *If $\alpha \in L_{si}$, $\beta \in L_{si}$ and $\alpha(\ln x) = o(\beta(x))$ as $x \rightarrow +\infty$, then*

$$\varrho_{\alpha,\beta}^{(1)}[f * g] \geq \max\{\varrho_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}$$

and

$$\lambda_{\alpha,\beta}^{(1)}[f * g] \geq \max\{\lambda_{\alpha,\beta}^{(1)}[f], \lambda_{\alpha,\beta}^{(1)}[g]\}.$$

Proof. Since $|g_k| > 1$ for $k \geq k_0$, we have $\mu(r, f * g) \geq \max\{|f_k g_k| r^k : k \geq k_0\} \geq \max\{|f_k| r^k : k \geq k_0\} = \mu(r, f) + O(1)$ as $r \uparrow 1$. From whence, we get $\varrho_{\alpha,\beta}^{(1)}[\ln \mu, f * g] \geq \varrho_{\alpha,\beta}^{(1)}[\ln \mu, f]$ and $\lambda_{\alpha,\beta}^{(1)}[\ln \mu, f * g] \geq \lambda_{\alpha,\beta}^{(1)}[\ln \mu, f]$ and, by Lemma 6, $\varrho_{\alpha,\beta}^{(1)}[f * g] \geq \varrho_{\alpha,\beta}^{(1)}[f]$ and $\lambda_{\alpha,\beta}^{(1)}[f * g] \geq \lambda_{\alpha,\beta}^{(1)}[f]$. Similarly, $\varrho_{\alpha,\beta}^{(1)}[f * g] \geq \varrho_{\alpha,\beta}^{(1)}[g]$ and $\lambda_{\alpha,\beta}^{(1)}[f * g] \geq \lambda_{\alpha,\beta}^{(1)}[g]$. \square

Proposition 10. *If the functions α and β satisfy the conditions of Lemma 5, then*

$$\varrho_{\alpha,\beta}^{(1)}[f * g] \leq \max\{\varrho_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}. \tag{3.31}$$

If, moreover, $|f_k/f_{k+1}| \nearrow 1$, $|g_k/g_{k+1}| \nearrow 1$, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\lambda_{\alpha,\beta}^{(1)}[f * g] \leq \min\{\max\{\lambda_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}, \max\{\lambda_{\alpha,\beta}^{(1)}[g], \varrho_{\alpha,\beta}^{(1)}[f]\}\}. \tag{3.32}$$

Proof. We can consider that $\varrho_{\alpha,\beta}^{(1)}[f] < +\infty$ and $\varrho_{\alpha,\beta}^{(1)}[g] < +\infty$. Then, by Lemma 5, $\ln |f_k| \leq \frac{k}{\beta^{-1}(\alpha(k)/\varrho_1)}$ and $\ln |g_k| \leq \frac{k}{\beta^{-1}(\alpha(k)/\varrho_2)}$ for every $\varrho_1 > \varrho_{\alpha,\beta}^{(1)}[f]$, $\varrho_2 > \varrho_{\alpha,\beta}^{(1)}[g]$ and all $k \geq k_0$. Therefore,

$$\ln |f_k g_k| \leq \frac{k}{\beta^{-1}(\alpha(k)/\varrho_1)} + \frac{k}{\beta^{-1}(\alpha(k)/\varrho_2)} \leq 2 \frac{k}{\beta^{-1}(\alpha(k)/\max\{\varrho_1, \varrho_2\}}.$$

This implies that $\varrho_{\alpha,\beta}^{(1)}[f * g] \leq \max\{\varrho_1, \varrho_2\}$, i.e., in view of the arbitrariness of ϱ_1 and ϱ_2 , we get (3.31).

We have $\ln |f_{k_j}| \leq \frac{k_j}{\beta^{-1}(\alpha(k_j)/\lambda)}$ for every $\lambda \in (\lambda_{\alpha,\beta}^{(1)}[f], +\infty)$ and some sequence $(k_j) \uparrow +\infty$. Therefore, as above,

$$\lambda_{\alpha,\beta}^{(1)}[f * g] \leq \liminf_{j \rightarrow \infty} \frac{\alpha(k_j)}{\beta(k_j/\ln |f_{k_j} g_{k_j}|)} \leq \max\{\lambda, \varrho_2\}.$$

In view of the arbitrariness of λ and ϱ_2 , we get $\lambda_{\alpha,\beta}^{(1)}[f * g] \leq \max\{\lambda_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}$. Similarly, $\lambda_{\alpha,\beta}^{(1)}[f * g] \leq \max\{\lambda_{\alpha,\beta}^{(1)}[g], \varrho_{\alpha,\beta}^{(1)}[f]\}$. Thus, (3.32) is true. \square

We prove also the following statement.

Proposition 11. *Let $\alpha \in L_{si}$, $\beta \in L_{si}$, and $\alpha(\ln x) = o(\beta(x))$ as $x \rightarrow +\infty$. If condition (2.14) holds, then $\lambda_{\alpha,\beta}^{(1)}[D_l^n f] = \lambda_{\alpha,\beta}^{(1)}[f]$ and $\varrho_{\alpha,\beta}^{(1)}[D_l^n f] = \varrho_{\alpha,\beta}^{(1)}[f]$.*

Proof. It is sufficient to consider the case where $n = 1$. Condition (2.14) yields the existence of numbers $0 < h_1 \leq h_2 < +\infty$ such that $h_1 \cdot (k + 1) \leq l_k/l_{k+1} \leq h_2(k + 1)$ for all $k \geq 0$. Therefore, $\mu(r, D_l^1 f) \geq \max\{h_1(k + 1)|f_{k+1}|r^{k+1} : k \geq 0\} = h_1\mu(r, f')$, and $\mu(r, D_l^1 f) \leq h_2\mu(r, f')$. Therefore, in view of Lemma 6, $\lambda_{\alpha,\beta}^{(1)}[D_l^1 f] = \lambda_{\alpha,\beta}^{(1)}[\ln \mu, D_l^1 f] = \lambda_{\alpha,\beta}^{(1)}[\ln \mu, f'] = \lambda_{\alpha,\beta}^{(1)}[f']$ and $\varrho_{\alpha,\beta}^{(1)}[D_l^1 f] = \varrho_{\alpha,\beta}^{(1)}[\ln \mu, D_l^1 f] = \varrho_{\alpha,\beta}^{(1)}[\ln \mu, f'] = \varrho_{\alpha,\beta}^{(1)}[f']$. On the other hand (see [8], Lemma 6), $M(r, f') \leq \frac{2}{1-r}M\left(\frac{1-r}{2}, f\right)$ and $M(r, f) \leq M(r, f') + |f(0)|$. From whence as in the proof of Lemma 6, we get $\lambda_{\alpha,\beta}^{(1)}[f'] = \lambda_{\alpha,\beta}^{(1)}[f]$ and $\varrho_{\alpha,\beta}^{(1)}[f'] = \varrho_{\alpha,\beta}^{(1)}[f]$. Proposition 11 is proved. \square

The following analog of Theorem 1 is true.

Theorem 2. *Let $\alpha(e^x) \in L_{si}$, $\beta \in L_{si}$, and let (3.26) hold. If (2.14) holds, then*

$$\overline{\lim}_{r \uparrow 1} \frac{1}{\beta(1/(1-r))} \alpha \left(\frac{\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) = \max\{\varrho_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}. \tag{3.33}$$

If, moreover, $|f_k/f_{k+1}| \nearrow 1$, $|g_k/g_{k+1}| \nearrow 1$, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$, and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\begin{aligned} \max\{\lambda_{\alpha,\beta}^{(1)}[f], \lambda_{\alpha,\beta}^{(1)}[g]\} &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{\beta(1/(1-r))} \alpha \left(\frac{\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \right) \\ &\leq \min\{\max\{\lambda_{\alpha,\beta}^{(1)}[f], \varrho_{\alpha,\beta}^{(1)}[g]\}, \max\{\lambda_{\alpha,\beta}^{(1)}[g], \varrho_{\alpha,\beta}^{(1)}[f]\}\}. \end{aligned} \tag{3.34}$$

Proof. As above, we have (2.21), and condition (3.26) implies that $\alpha(\ln x) \leq \alpha(x) = o(\beta(x))$ as $x \rightarrow +\infty$. In view of Lemma 6 and the relation $\alpha(e^x) \in L_{si}$, we have

$$\begin{aligned} \overline{\lim}_{r \uparrow 1} \frac{\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j})}{\beta(1/(1-r))} &= \overline{\lim}_{r \uparrow 1} \frac{\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g))}{\beta(1/(1-r))} \\ &= \varrho_{\alpha,\beta}^{(1)}[\nu, D_l^{(n)} f * D_\lambda^{(m)} g] = \varrho_{\alpha,\beta}^{(1)}[D_l^{(n)} f * D_\lambda^{(m)} g] \end{aligned}$$

and

$$\begin{aligned} \underline{\lim}_{r \uparrow 1} \frac{\alpha(\nu(r, D_l^{(n)} f * D_\lambda^{(m)} g)^{2j})}{\beta(1/(1-r))} &= \lambda_{\alpha,\beta}^{(1)}[\nu, D_l^{(n)} f * D_\lambda^{(m)} g] \\ &= \lambda_{\alpha,\beta}^{(1)}[D_l^{(n)} f * D_\lambda^{(m)} g]. \end{aligned}$$

Therefore, using Propositions 10 and 11 from (2.21), we obtain (3.33) and (3.34). □

Remark 2. Choosing $\alpha(x) = \beta(x) = \ln^+ x$ from the definitions of $\varrho_{\alpha,\beta}^{(1)}[f]$ and $\lambda_{\alpha,\beta}^{(1)}[f]$, we get the definitions of the order $\varrho^{(1)}[f] = \overline{\lim}_{r \uparrow 1} \frac{\ln^+ \ln M(r, f)}{\ln(1/(1-r))}$ and the lower order $\lambda^{(1)}[f] = \underline{\lim}_{r \uparrow 1} \frac{\ln^+ \ln M(r, f)}{\ln(1/(1-r))}$ for function (1.1) with $R[f] = 1$. The functions $\alpha(x) = \beta(x) = \ln^+ x$ do not satisfy the conditions $\alpha(e^x) \in L_{si}$ and (3.26). The condition $\alpha(e^x) \in L_{si}$ is used only in Lemma 6 for the proof of the equalities $\varrho_{\alpha,\beta}^{(1)}[\nu, f] = \varrho_{\alpha,\beta}^{(1)}[f]$ and $\lambda_{\alpha,\beta}^{(1)}[\nu, f] = \lambda_{\alpha,\beta}^{(1)}[f]$. Now, we have (see [18]) $\lambda^{(1)}[f] \leq \lambda^{(1)}[\nu, f] \leq \lambda^{(1)}[f] + 1$ and $\varrho^{(1)}[f] \leq \varrho^{(1)}[\nu, f] \leq \varrho^{(1)}[f] + 1$. We note (see [18–19])

that $\varrho^{(1)}[f] = \frac{\alpha^*[f]}{1 - \alpha^*[f]}$, $\alpha^*[f] := \overline{\lim}_{k \rightarrow \infty} \frac{\ln^+ \ln |f_k|}{\ln k}$. If $|f_k|/|f_{k+1}| \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then $\lambda^{(1)}[f] = \frac{\alpha_*[f]}{1 - \alpha_*[f]}$, $\alpha_*[f] := \underline{\lim}_{k \rightarrow \infty} \frac{\ln^+ \ln |f_k|}{\ln k}$.

Since $|f_k| > 1$ and $|g_k| > 1$, we have $\alpha^*[f * g] \geq \max\{\alpha^*[f], \alpha^*[g]\}$ and $\alpha_*[f * g] \geq \max\{\alpha_*[f], \alpha_*[g]\}$. From whence, we get

$$\begin{aligned} \varrho^{(1)}[f * g] &\geq \frac{\max\{\alpha^*[f], \alpha^*[g]\}}{1 - \max\{\alpha^*[f], \alpha^*[g]\}} \\ &= \frac{\max\{\varrho^{(1)}[f]/(1 - \varrho^{(1)}[f]), \varrho^{(1)}[g]/(1 - \varrho^{(1)}[g])\}}{1 - \max\{\varrho^{(1)}[f]/(1 - \varrho^{(1)}[f]), \varrho^{(1)}[g]/(1 - \varrho^{(1)}[g])\}} \\ &= \max\{\varrho^{(1)}[f], \varrho^{(1)}[g]\}. \end{aligned}$$

On the other hand, $\ln |f_k| \leq k^{\alpha_1}$ and $\ln |g_k| \leq k^{\alpha_2}$ for every $\alpha_1 \in (\alpha^*[f], 1)$, $\alpha_2 \in (\alpha^*[g], 1)$ and all $k \geq k_0$. Therefore, $\alpha^*[f * g] \leq \overline{\lim}_{k \rightarrow \infty} \frac{\ln^+(k^{\alpha_1} + k^{\alpha_2})}{\ln k} \leq \max\{\alpha_1, \alpha_2\}$. In view of the arbitrariness of α_1 and α_2 , we get $\alpha^*[f * g] \leq \max\{\alpha^*[f], \alpha^*[g]\}$ and, as above, $\varrho^{(1)}[f * g] \leq \max\{\varrho^{(1)}[f], \varrho^{(1)}[g]\}$.

If $|f_k/f_{k+1}| \nearrow +\infty$, $|g_k/g_{k+1}| \nearrow +\infty$ as $k_0 \leq k \rightarrow \infty$, then we obtain $\lambda^{(1)}[f * g] \geq \max\{\lambda^{(1)}[f], \lambda^{(1)}[g]\}$ and $\lambda^{(1)}[f * g] \leq \min\{\max\{\lambda^{(1)}[f], \varrho^{(1)}[g]\}, \max\{\lambda^{(1)}[g], \varrho^{(1)}[f]\}\}$. Finally, (2.21) implies that

$$\ln \frac{\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} = 2j \ln \nu(r, D_l^{(n)} f * D_\lambda^{(m)} g), \quad r \rightarrow +\infty.$$

Therefore, the following statement is true.

Proposition 12. *If (2.14) holds, then*

$$\begin{aligned} 2j \max\{\varrho^{(1)}[f], \varrho^{(1)}[g]\} &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{\ln(1/(1-r))} \ln \frac{\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ &\leq 2j \max\{\varrho^{(1)}[f] + 1, \varrho^{(1)}[g] + 1\}. \end{aligned}$$

If, moreover, $|f_k/f_{k+1}| \nearrow 1$, $|g_k/g_{k+1}| \nearrow 1$, $l_k l_{k+2}/l_{k+1}^2 \nearrow 1$ and $\lambda_k \lambda_{k+2}/\lambda_{k+1}^2 \nearrow 1$ as $k_0 \leq k \rightarrow \infty$, then

$$\begin{aligned} 2j \max\{\lambda^{(1)}[f], \lambda^{(1)}[g]\} &\leq \overline{\lim}_{r \uparrow 1} \frac{1}{\ln(1/(1-r))} \ln \frac{\mu(r, D_l^{(n+j)} f * D_\lambda^{(m+j)} g)}{\mu(r, D_l^{(n)} f * D_\lambda^{(m)} g)} \\ &\leq 2j \min\{\max\{\lambda^{(1)}[f], \varrho^{(1)}[g]\} + 1, \max\{\lambda^{(1)}[g], \varrho^{(1)}[f]\} + 1\}. \end{aligned}$$

References

- [1] Hadamard, J. (1899). Theoreme sur le series entieres. *Acta math.*, 22, 55-63.
- [2] Hadamard, J. (1901). La serie de Taylor et son prolongement analitique. *Scientia phys.- math.*, 12, 43-62.
- [3] Bieberbach, L. (1955). *Analytische Fortsetzung*. Berlin: Springer.
- [4] Korobeinik, Yu.F., Mavrodi, N.N. (1990). Singular points of the Hadamard composition. *Ukr. Math. Zh.*, 42(12), 1711–1713 (in Russian).
- [5] Sen, M.K. (1967). On some properties of an integral function $f * g$. *Riv. Math. Univ. Parma* (2), 8, 317–328.
- [6] Sen, M.K. (1970). On the maximum term of a class of integral functions and its derivatives. *Ann. Pol. Math.*, 22, 291–298.
- [7] Gelfond, A.O., Leont’ev, A.F. (1957). On a generalization of Fourier series. *Mat. Sbornik*, 23(3), 477–500 (in Russian).
- [8] Luhova, L.L., Mulyava, O.M., Sheremeta, M.M. (2010). Properties of Hadamard composition for Gelfond–Leont’ev derivatives of analytic functions. *Ufa Mathematical Journal*, 2(2), 90–101 (in Russian).
- [9] Sheremeta, M.N. (1967). Connection between the growth of the maximum of the modulus of an entire function and the moduli of the coefficients of its power series expansion. *Izv. Vyssh. Uchebn. Zaved. Mat.*, 2, 100–108 (in Russian).
- [10] Sheremeta, M.M. (1993). *Entire Dirichlet series*. - K.: ISDO (in Ukrainian).
- [11] Polya, G., Szego, G. (1964). *Aufgaben und Lehrsätze aus der Analysis. II*. Berlin: Springer.
- [12] Hadamard, J. (1892). Essai sur l’etude des fonctions donnees par leur developpement de Taylor. *J. math. pures et appl.*, 12, 154–186.
- [13] Whittaker, J.M. (1933). The lower order of integral functions. *J. London Math. Soc.*, 8, 10–17.
- [14] Sheremeta, M.M. (1966). On the connection between the growth of a function analytic in a disk and the moduli of coefficients their Taylor series. *DAN USSR*, 6, 729–731 (in Russian).
- [15] Gal’, Yu.M., Sheremeta, M.M. (1978). On the growth of analytic fuctions in a half-plane given by Dirichlet series. *DAN USSR, ser. A.*, 12, 1964–1067 (in Russian).
- [16] Gal’, Yu.M. (1980). *On the growth of analytic functions given by Dirichlet series absolute convergent in a half-plane*. Drohobych. Manuscript deposited at VINITI, No. 4080-80 Dep. (in Russian).
- [17] Fujiwara, M. (1932). On the relation between $M(r)$ and the coefficients of a power series. *Proc. Imp. Acad. Japan.*, 8, 220–223.

-
- [18] Sons, L.S. (1968). Regularity of growth and gap. *J. Math. Anal. Appl.*, 24, 296–306.

CONTACT INFORMATION

**Myroslav
Mykolayovych
Sheremeta**

Ivan Franko National University of Lviv,
Lviv, Ukraine
E-Mail: m.m.sheremeta@gmail.com

**Oksana
Myroslavivna
Mulyava**

Kyiv National University of Food
Technologies, Kyiv, Ukraine
E-Mail: oksana.m@bigmir.net